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C Mixed Practice

That's the end of Calculations — test how much you've learnt with these questions.

@ Ron works out 398 x 1.9 He thinks the answer is 672.6.

Use estimation to decide if Ron is correct. Explain your answer.

SN

1 mark

@ Write down all the factor pairs of 35.

ESN

1 mark

@ At a football match, 2735 meat pies, 968 veggie pies and 156 sandwiches were sold.

How many more pies were sold at the match than sandwiches?

ESN

2 marks
@ Look at this list of numbers.
Circle the prime numbers.
M s 23 81 384 s s
1 mark
Which of the numbers in the list is a square number?
Which of the numbers in the list is a cube number?
1 mark
@ 366 x 70 = 25 620. Use this to work out the calculations below.
36.6 x 70 = 366 x 7000 =
2 marks
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